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XtiH | XHIER X AAE X &5

2| 1| & |XREMGE 5,159
2| 3| & |BER 10,000
2| 4| BE |FH 10,000
2 4| BE|HIE 16,500
2 5| & [|REXG 10,000
2| 6| = FHUEMHRERBFREGTENSAES 3,000
2| 6| B |REXS 6,100
2 7| & |REMGE 9,207
2| 7| BHR |6 10,000
2| 9| HE |HE 10,000
2| 11 = B3z — 2,000
2(12| =BE |FH 10,000
214 BE |#IE 16,500
2( 14| BE |FH 10,000
2 16| ®HBE |#IE 11,000
2|1 16| BHR |6 10,000
2(17| BB |EiEXnE 20,000
2(20| #E |BHER 10,000
2| 22| BHR (O 20,000
21 22| & A EREXET I RNSME 6,000
2| 22| BB |REXS 12,320
2 22| BE |FH 10,000
2 22| B |XREMGE 5,620
2|23 HE |UE 10,000
2| 23| #E |BHRE 13,800
2|24 BE |FH 10,000
2|25 B |FH 5,000
2 (28| %= FEREME 10,000
2 128| = B3z — 10,000
2 (28| #B |REXS 10,000
2 |28 B |FH 10,000
2 |28 BRE|HIE 16,500
2 28| @& (HTE 11,000
2 (29| B |REXGE 3,920

2AR&&t 343,626

SHSFEES RE 2,531,067




